GCSE Maths Question of the Week T2 0 1= IS

Your answer:

A baker is making bread rolls. He divides his dough
into 8 equal pieces. He then cuts each one of these A B C D

pieces into 3, each of which is a single bread roll.

He sells the rolls in bags of 4. Try the question online:

What fraction of the original dough is in one bag of [l E_!
rolls? Give your answer in its simplest form.
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Try the quiz online:
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| think this is the answer because...

Why might students choose each of the other 3 What other incorrect answer would you add to
answers? this question and why?
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